Honors Discrete Math
Unit 5: 
Ch 10 – Manipulability of Voting Systems: Class Assignment

Name: __________________________ 





Date: _____________
	1.
	Majority rule is a good way to choose between three alternatives.

A.
True

B.
False




Use the following information to answer questions 2-4 below.

One hundred voters are to elect one of the four candidates A, B, C, or D. Their preference schedule is shown below. 

	 
	Number of Voters


	 
	40
	32
	18
	10

	First choice
	A
	B
	D
	C

	Second choice
	C
	C
	C
	D

	Third choice
	B
	A
	B
	A

	Fourth choice
	D
	D
	A
	B


	2.
	Which candidate wins using the Hare system?

A.
A wins.

B.
B wins.

C.
D wins.

D.
No winner is determined.




	3.
	Is there a winner using the plurality runoff method?

A.
Yes, A wins.

B.
Yes, B wins.

C.
Yes, C wins.

D.
No winner is determined.




	4.
	Which candidate wins using sequential pairwise voting with the agenda A, C, B, D?

A.
A wins.

B.
B wins.

C.
C wins.

D.
D wins.




	5.
	A vote between two candidates is:

A.
never manipulable.

B.
sometimes manipulable.

C.
always manipulable.




	6.
	A vote using Condorcet's method is:

A.
never manipulable.

B.
sometimes manipulable.

C.
always manipulable.




	7.
	A vote using the Borda count method is:

A.
never manipulable.

B.
sometimes manipulable.

C.
always manipulable.




	8.
	Agenda manipulation is a technique to impact an outcome using:

A.
the Hare method.

B.
the plurality runoff method.

C.
the Borda count method.

D.
the sequential pairwise method.




	9.
	A vote using plurality is:

A.
never manipulable.

B.
manipulable by individuals only.

C.
manipulable by groups only.

D.
manipulable by both individuals and groups.




	10.
	Which of these voting methods never results in a tie?

A.
the Hare method

B.
sequential runoff

C.
Condercet method

D.
plurality runoff




	11.
	The Chair's paradox is the fact that the chair, who can break ties, can:

A.
always end up with his or her preferred candidate.

B.
sometimes end up with his or her preferred candidate.

C.
sometimes end up with his or her least preferred candidate.

D.
never end up with his or her least preferred candidate.




	12.
	Which of the following is also known as an “insincere ballot”?

A.
A disingenuous ballot

B.
A strategic ballot

C.
A preference ballot

D.
A dispreference ballot




	13.
	If a voter sincerely prefers A over B over C over D, then he or she will prefer a tie between B and C over:

A.
a tie between B and D.

B.
a tie between A and B.

C.
a tie between A and C.




Use the following information to answer questions 14-17 below.

Twenty-nine voters must choose from among three alternatives: A, B, and C. The voters' preference schedules are shown below. 

	 
	Number of Voters


	 
	12
	8
	6
	3

	First choice
	B
	C
	A
	C

	Second choice
	C
	A
	B
	B

	Third choice
	A
	B
	C
	A


	14.
	C wins in a Borda count. Can the six voters in the third column change their preference list to produce an outcome they like better?

A.
No, C will always win.

B.
Yes, they can rank A, C, B.

C.
Yes, they can rank B, A, C.

D.
Yes, they can rank C, A, B.




	15.
	C wins in a Borda count. Can the 12 voters in the first column change their preference list to produce an outcome they like better?

A.
No, C will always win.

B.
Yes, they can rank A, C, B.

C.
Yes, they can rank B, A, C.

D.
Yes, they can rank C, A, B.




	16.
	Using the agenda A, B, C, and sequential pairwise voting, alternative B wins. Is there an agenda that produces C as a winner?

A.
No, B always wins.

B.
Yes, the agenda A, C, B.

C.
Yes, the agenda C, B, A.

D.
Yes, the agenda B, A, C.




	17.
	Using the agenda A, B, C, and sequential pairwise voting, alternative B wins. Is there an agenda that produces A as a winner?

A.
No, B always wins.

B.
Yes, the agenda A, C, B.

C.
Yes, the agenda C, B, A.

D.
Yes, the agenda B, A, C.




Use the following preference table to answer questions 18-20 below.

	 
	Number of voters


	 
	4
	6
	8
	4

	First choice
	D
	C
	A
	B

	Second choice
	C
	B
	D
	A

	Third choice
	B
	D
	C
	C

	Fourth choice
	A
	A
	B
	D


 

	18.
	Using plurality, A wins. Could the four voters who most prefer D (and prefer A least) vote insincerely to change the outcome in a way that would benefit them?

A.
No, they cannot change the outcome.

B.
Yes, they could get B to win.

C.
Yes, they could get C to win.

D.
Yes, they could get D to win.




	19.
	Using plurality, A wins. Could the six voters who most prefer C (and prefer A least) vote insincerely to change the outcome in a way that would benefit them?

A.
No, they cannot change the outcome.

B.
Yes, they could get B to win.

C.
Yes, they could get C to win.

D.
Yes, they could get D to win.




	20.
	Using plurality, A wins. Could the four voters who most prefer B vote insincerely to change the outcome in a way that would benefit them?

A.
No, they cannot change the outcome.

B.
Yes, they could get B to win.

C.
Yes, they could get C to win.

D.
Yes, they could get D to win.




